FINANCEe  (by Joe Erdeky, erdeky@inbox.com)                                                                              2/24/2013
Note: For FINANCE to run, you MUST load program Z.8XP into programs. It is included in the zip file.
Symbols:    A, the future value.   I, the interest.   m, the number of payments per year.   P, the present value.                                                 r, the annual interest rate.    R, the periodic payment.   t, the time in years. (for 5 months use 5/12).
Tip: If you make an amortization schedule, be sure to start PRGM FINANCE again and run 5:QUIT. This will clear the schedule and return the calculator lists L1, L2, etc. 
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Your calculator may run out of memory if the schedule is long or you have many programs in your calculator.

If you have many programs, you will need to temporally archive some of them to free some memory.  The authors’ calculator is OK with a 120 payment schedule when the free ram is 8636.
When doing a 30 year loan paid monthly, first find the payment R and use k=120 and run the program 3 times to get the 360 rows of the schedule. Just use each new Bal as the value for P in the next run. 

Remark: The final balance of a loan schedule may not be 0 due to rounding of the payment. For a 360 payment loan the balance may be off by several dollars.

===============================================================================

1: For Simple Interest, the Program finds: interest, principal, future value, rate, time, and the payment for add-on interest.

2: For Compound Interest, the Program finds: interest, principal, future value, time, rate, and effective rate. 

3: For Annuities, found is future value (both ordinary and due), present value, sinking fund payment, the loan payment, and the loan balance.

4: An amortization Schedule can be created if the number of payments is not too large for the memory.

---------------------------------------------------------------------------------------------------------------------------------------
